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( class Hello { \

oublic static void main(String[] args) {
inta = 3;
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System.out.printin(a);
System.out.printin(b);
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import java.util.Scanner;

class web {
public static void main(String[] args) {

iInt num;

Scanner sc = new Scanner(System.in);

num = sc.nextint();
System.out.println(num);

} .
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import java.util.Scanner;

class web{
public static void main(String[] args) {
int num;
Scanner sc = new Scanner(System.in); |

enum = sc.nextint();

System.out.printin(num);

} 0
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[import java.util.Scanner ;
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import |java.utiI.Scanner|;
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[Scanner sc = new Scanner ( System.in ) ;
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Scanner]sc|=new Scanner ([System.in]);
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num = sc.nextint();

T s BER - WISERNER B R
=

2V BURE (nextInt) 1R 4G5 (=) num B2




EERZE O (2)

4 ™)
IFNYEE 2 TE S sc FUERIEEEY
T ERTENERNENE -

r
A BN EHEENE
BHEKA num g -

. J

~

SENEIE || g o ey RGN AR -

N %/—\7_\% ° A =£z s N1Y] =y
ke ez EWMANERNS T - HER

\_

am

sc.nextFloat() i & A B Rl 88 i ZREE 8RS -

J




g

import java.util.Scanner;

( java.util.Scanner )
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class web{
public static void main(String[] args) {

J

}

int num;

Scanner sc = new Scanner(System.in); |

num = sc.nextlnt();l

System.out.printin(num);
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import java.util.Scanner;

class web{
public static void main(String[] args) {
iInt numOne, numTwo;
Scanner sc = new Scanner(System.in);

numOne = sc.nextInt();
numTwo = sc.nextint();
System.out.printin(numOne);
System.out.printin(numTwo);
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import java.util.Scanner;

class web{
public static void main(String[] args) {
float numFloat; S EmAE
double numDouble: X float#id HITER
Scanner sc = new Scanner(System.in); | 24.511111111111111111111

numFloat = sc.nextFloat();

numDouble = sc.nextDouble(); 24.111111222222222222222

System.out.println(numFloat); [§®24.51111
System.out.printin(numDouble); 24.111111222222224
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import java.util.Scanner;
class web{

public static void main(String[] args) {

Scanner sc = new Sc
boolean dataBoolea

dataBoolean = sc.nextBoolean();
System.out.printin(dataBoolean);
System.out.printf("%B\n", dataBoolean);
System.out.printf("%b\n", dataBoolean);

]

anner(System.in);
n;
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import java.util.Scanner;
class web{

public static void main(String[] args) {
Scanner sc = new Scanner(System.in);
String dataString;

dataString = sc.nextLine();
System.out.printin(dataString);
dataString = sc.next();

System.out.printin(dataString);
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mport java.util.Scanner;

class web{
public static void main(String[] args) {

Scanner sc = new Scanner(System.in);

char dataChar;

dataChar = sc.next().charAt(0);
System.out.printin(dataChar);
dataChar = sc.next().charAt(0);
System.out.printin(dataChar);

} _
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